








































































Findcriticalpt
O Compare value of fox

at endpoints and criticalpts

tix 4 3 16x existseverywhere StepI

ftp.fttl O 4 3 16 0
flo 2
f 14 14 min

4 1 245 0 fl D 5
4 1 211421 0 f 3 L I max

Xi O 2 or 2 rejected not in C1,33
in that rake 11
Twocriticalpts men value 14










































































Somebasic integrals Don'tforget C sinacosB tzfsinlA BI s.nlA B

flafantbgix dX affixdxtb gcxsdx COSAcosB I costAtB 1costa B
SinA sinB I costatB costa Bfkdx kXtc
sinAcosA Iz sin2AJxkdx Xk 1C for Kt 1
cos A 121 It cos2A

f dX lnlxIt C siiA z.li cos2A

e dx Etc adx a c t substitution
lira

Icosidx sin Xtc fsinxdx cosx.sc let E tan'E Then

seckdx tan Xtc csExd cot c
tank ftp.dx fedt

secxtanxdx SecxtC fcscxcotxdx n cscxtcsinx fttzcosx II.FI

tanxdx lnlsecxtc fcotxdx.lu sinxtc ftp.dx arcsinxtc

secxdx lnsecxttanx cfcscxdx ln cscx cotxtc 1fyndx arctanx 1C






































































































































































Let u X 12 du 3HdX

Stu'Idu juEc asea

or fCx44 C

Id 2 A
K't c

same
dei no n

dx dlnx zfsec2xtan2xdC2x
aside dont

seek 1C

rationalize JsecEEafdf

SE.is iEiiTdx'iseI1secoeceHla4b3fatbKa abt5
Il

Ei dy e e ti












































































sinA cosB sinlatB 1 sin A B

cosA cosB costAtB 1cos1A B

SinA sinB 1 cosATB costa B2

sinAcosA Iz sin2AX it'm

Tb fsiiitxcosxdx fsmxdsnx fsinx
cfsm4xcosxdxfsinxcos.iraside 058 1 sink fcos4xsihkdx

fs.naxdsnixlds.me

fightcos2 5 1 coshsink sink dsmx
sink f sink 1C dy

fsm4xcos5xdx fsin4Xcos4xcosxdX
See lecture notefs.mx l siix dsmx

polynomial in sink











































































Different angles sina cosB Lz sinlAtB 1 sin A Bx I
cosA cosB costAtB 1costa B

Sina sinB I costatB costa B

d5X SinAcosA Iz sin2A
I dT 5

costsn2xcosxdx cos A 121 It cos2A

m5X SMX dX e cojxsmkdsinxsiiA z.li cos2Aw

fo fsin5Xd5x gamed
X

fol cos5X tt'zcosxtC











































































t i
O O g dx Bh dxt4 d

O EIYEYI icarctanx
Bzlnlx.tl

tCarctanXtDa.x45x6 Kt6kk i I dX Ff dXtE dx

let t t Fenktatfenk Atc
x 2

Xt4 A X l 1131 46 C 3 Inx'that X42xtli ATB x 11 A1613 X't X
2

342
13
14 713 5 13 57 2K X O 42 11

A1613in 2 2 4 2

Aef A B381 2 Xfl 15











































































Iquadratic law x as.no

O Jaw Katant

0 Ixia x aseco

h 1154 5 050 It cos20
a let X
5sm0dX
5costd0 c Let x ztano SMH1050 1

DX 51252557 5cosado dk 2se dGlTtanO

seEGIfd25co505cosOd0fg'Fydx Jg qqa 2seifdf
25505010

252Kitcoszaldo I f 2 He do

2520 1 2Isin20 1C if Secondo
arcs t Inlsecottanolt C










































































Sisi Isadora.ae SiaIET
let X 12 3 sing












































































t substitution
let t tanE Then

tank ftp.dxfedtsinx2t IttItt 2T
cosX l t Ix2tsmxtcosxd HE i E

lat et i dt

2 at
ztzEt2t l E

zdt
if Settat

f dt kd

I 141 4 14 arctanf.IT tc











































































Sadu w frdu Product of E sinx cost
x
Ink arcs.nl arccosx

O Xfxdtanx

e f sin'xdX
Integration Itwice xsm k JxdsintX

ebyputsa_fXsintzdx
2fxsmxzdzb.fxlaxdx

tsm t f gd
effluxDXdiff int 2 Xdcostz

2 xcosEfcoszdxf.it xHnx fxdlnx
2XcosE 2fcosxzdx IlHlnx f dx

2xcosz 145M 1C



Setsinxdx

schx dear e
integrate ex

e'sink feedsn
Integrate et twice

e'smx fexcosidx
e's inX JcosX dei
e'Smx Kost Jet dust
e'sink e'cosX

fexsinxdxzfesihxdx
etfsmx

cosxlfesmxdxi.IE
Smx cost


